et

(1)

(2)

R

ma, = —2kxq

N

3
“kd
2

Zkd?

ma; = —2kx1 + kxo

mag = kx1 — 2kxs

U = V1 + V2

bgzal—ag

mby = —kiy1

mbg = 73/€y2
3

y1(0) = 5d

(10)

(11)

(12)

may = —2kx1 + ko

mag = kx1 — 2kxo + kxs

mas = kxo — 2kxs

(13)
mby = —(2 — V2)ky

mb2 = —Qk‘yg
mbs = —(2 + \/i)k‘y?,
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(1) IHk\0,
2eV
V1 = e
m (ii)
A= 1
2meV
(iif)
(2) sinf < E
2dsinf = N\ 4
(3)
0< A\ <2d
(4)
— Al
T 2sinfy
(5)
V=77V

IENLF— 128 x10% eV

(6)
ﬁ_ AN
d ~ tanfj
(7)
(i)
&_ %4
MoV V+ 1
(i)
ﬁ_cos@z
A1 cosf
(8)
2dsin 0y = Ao
(9)
Vo= — V(sin6,)*
07 Smed? St
(10) 1 W
_ 1 0
Ab = 2V tan6,
(11)
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